








How many pair of letters are there in the word “EFFECTIVE” which 

has as many letters (in both forward and backward direction) in 

between as they have in English alphabet series?

शब्द “EFFECTIVE” में अक्षरों के ऐसे ककतने युग्म हैं किनके बीच में उतने ही अक्षर 

हैं (आगे और पीछे दोनों कदशाओ ंमें) कितने उनके बीच अंगे्रिी वर्णमाला श्रंखला में 

हैं?

1.Two

2.Three

3.Four

4.None of these

5.One



R D A K 5 B I 2 M J E N 9 7 U Z V 1 W 3 H 4 F Y 8 P 6 T G

Q.How many such consonants are there in the above arrangement, each of which 

is immediately preceded by a number and immediately followed by another 

consonant ?

उपरोक्त व्यवस्था में ककतने व्यंिन हैं, किनमें से प्रत्येक के तुरंत पहले एक सखं्या हो

और तुरंत बाद एक व्यंिन हो ?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three



B % 4 T U 5 # A 3 R V 7 9 * M 2 $ N 9 K P I 8 H 1 W E @ D

Q. How many such numbers are there in the above arrangement, each of which is 

immediately preceded by a symbol and immediately followed by a consonant ?

उपयुणक्त व्यवस्था में एसे ककतनी सखं्याए ंहैं, किनमें से प्रत्येक के तुरंत पहले एक प्रतीक 

हो और तुरंत बाद व्यंिन हो?

(1) None

(2) One

(3) Three

(4) Four

(5) More than four



F N $ 3 2 * W E % ! B M P ( A V ~ 9 F + S U # L T 6

If the first fifteen elements in the above passage sequence are written in reverse 

order then

यकद उपयुणक्त मागण अनुक्रम में पहले पंद्रह तत्वों को कवपरीत क्रम में कलखा गया है

Q. Which of the following will be fifteenth from the right end?

कनम्नकलकखत में से कौन सा तत्व दाये छोर से 15वा होगा ? 

(1) $ 

(2) 3

(3) P

(4) ( 

(5) 2  



F N $ 3 2 * W E % ! B M P ( A V ~ 9 F + S U # L T 6
If the first thirteen elements in the above passage sequence are written in 

reverse order then 

यकद उपयुणक्त मागण अनुक्रम में पहले तेरहा तत्वों को कवपरीत क्रम में कलखा गया है

Q. Which of the following will be second to the right of sixteenth element from the 

right end?

कौन सा तत्व दाये छोर से 16वे के दाए ंदूसरा होगा ? 

(1) ! 

(2) A 

(3) E 

(4) % 

(5) F



F N $ 3 2 * W E % ! B M P ( A V ~ 9 F + S U # L T 6

If the first thirteen elements in the above passage sequence are written in reverse 

order then 

यकद उपयुणक्त मागण अनुक्रम में पहले तेरहा तत्वों को कवपरीत क्रम में कलखा गया है

Q. Which of the following is the 3rd letter to the left of the 16th letter from the 

right end? 

दाये छोर से 16 वें तत्व के बाये ओर तीसरा तत्व कौन सा होगा ?

(1) 9    

(2) S     

(3) V     

(4) M       

(5) * 



How many pairs of letters are there in the word ‘COMMUNICATION’ 

which have as many letters between them in the word as in alphabetical 

series?

शब्द 'COMMUNICATION' में अक्षरों के ऐसे ककतने यगु्म हैं किनके बीच 

शब्द में उतने ही अक्षर हैं कितने वर्णानकु्रम में हैं? 

A. Only one

B .Three

C .Five

D .More than five

E .None of these



‘Move Fast Or Left Behind’ is coded as ‘hc ma tj kl np’ 

‘Men Left Behind The Journey’ is coded as ‘at tj ma lp uf’ 

‘Your Journey Ended Fast’ is coded as ‘lp ry hc jq’ 

‘The Life Ended Or Begin’ is coded as ‘kl fd at cr ry’

What does the code ‘np’ stands for in the given code language?

दी गई कूट भणषण में ‘np’ कूट क्यण दशणातण ह?ै

A. Move B. Fast C. Or D. Left E. Behind



‘Move Fast Or Left Behind’ is coded as ‘hc ma tj kl np’ 

‘Men Left Behind The Journey’ is coded as ‘at tj ma lp uf’ 

‘Your Journey Ended Fast’ is coded as ‘lp ry hc jq’ 

‘The Life Ended Or Begin’ is coded as ‘kl fd at cr ry’

What does the code ‘fd cr’ stands for in the given code language?

दी गई कूट भणषण में ‘fd cr’ कूट क्यण दशणातण ह?ै

A. Or Begin B. The Life C. Or Ended D. Life Begin 

E. Life Ended 



In a certain language, RANDOM is coded as TEPFUO , PLEASE is coded 

as RNIEUI then find the code for “ORANGE” ?

एक कनकित भणषण में, RANDOM को TEPFUO के रूप में कोकित ककयण िणतण ह,ै PLEASE 

, RNIEUI के रूप में कोकित ककयण िणतण ह,ै तो “ORANGE” के किए कोि ्णत करें? 

A .TEPIOA

B .OTEPIA

C .IPETOA

D. UTEPII

E .ATEPIO



Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. D ≥ O II. M ≥ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: B < C = D ≤ X ≤ Y < Z

Conclusions: I. B < X II. Z ≤ C

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: S ≤ P ≤ A = R > E ≤ D

Conclusions:  I. A > D II. S ≤ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: L ≤ K < J ≥ U; R ≥ T ≥ J

Conclusions:  I. T > L II. U ≤ R

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements:

Only a few mails are gmail.

Some gmail are google.

Conclusion

Some mail are google .

No google is mail .

कथन: 

केवि कुछ मिे िीमिे हैं। 

कुछ िीमिे गगूि हैं। 

कनष्कषा :

कुछ मिे गगूि हैं। 

कोई गगूि मिे नहीं ह।ै



Statements:

Only a few mails are gmail.

Some gmail are google.

Conclusion

Some mail are google .

No google is mail .



Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.

कथन: 

सभी िक बिा हैं. 

सभी बिा स्पैरो हैं. 

केवि कुछ क्रो स्पैरो हैं। 

कनष्कषा: 

सभी क्रो बिा हैं। 

कुछ िक स्पैरो हैं.



Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.



Statements:

Some Dhiraj are Aakash.

No Aakash is Sarin.

Only a few Sarin are Poker.

Conclusions:

All Sarin are Poker.

Some Dhiraj are not Sarin.

कथन: 

कुछ धीरि आकणश हैं। 

कोई आकणश सरीन नहीं ह।ै 

केवि कुछ सरीन पोकर हैं। 

कनष्कषा: 

सभी सरीन पोकर हैं। 

कुछ धीरि सरीन नहीं हैं।



Statements:

Some Dhiraj are Aakash.

No Aakash is Sarin.

Only a few Sarin are Poker.

Conclusions:

All Sarin are Poker.

Some Dhiraj are not Sarin.



Statements:

Only a few Book are Paper.

No Paper are Pen.

Conclusion:

I: Some Book are Pen.

II: All Book can never be Pen.

कथन: 

केवि कुछ बकु पेपर हैं। 

कोई पेपर पेन नहीं ह।ै 

कनष्कषा: 

I: कुछ बकु पेन हैं। 

II: सभी बकु कभी पेन नहीं हो सकते।



Statements:

Only a few Book are Paper.

No Paper are Pen.

Conclusion:

I: Some Book are Pen.

II: All Book can never be Pen.



Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal 

distances between each other, but not necessarily in the same order. All 

of them are facing north direction. Two people sit between E and C. E 

sits at one of the extreme ends. A sits second to the right of C. B sits 

fourth to the left of F. F is not an immediate neighbor of C. H sits third 

to the left of D. D does not sit at extreme ends.

आठ कमत्र A, B, C, D, E, F, G और H एक पंकि में एक दसूरे के बीच समणन दरूी के 

सणथ बैठे हैं, िेककन िरूरी नहीं कक इसी क्रम में हों। उन सभी कण मखु उत्तर कदशण की ओर 

ह।ै E और C के बीच दो व्यकि बैठे हैं। E ककसी एक अकंतम छोर पर बैठण ह।ै A, C के दणयें 

से दसूरे स्थणन पर बैठण ह।ै B, F के बणयें से चौथे स्थणन पर बैठण ह।ै F, C कण कनकटतम 

पिोसी नहीं ह।ै H, D के बणयें से तीसरे स्थणन पर बैठण ह।ै D अकंतम छोर पर नहीं बैठण ह।ै



Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal distances 

between each other, but not necessarily in the same order. All of them are facing 

north direction. Two people sit between E and C. E sits at one of the extreme 

ends. A sits second to the right of C. B sits fourth to the left of F. F is not an 

immediate neighbor of C. H sits third to the left of D. D does not sit at extreme 

ends.



There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E and F 
are facing north and other six P, Q, R, S, T, and U are facing south. Each person from 
one row faces exactly one person from the other row but not necessarily in the same 
order. A and R sits diagonally opposite to each other. There are two persons sitting 
between R and Q. One of the immediate neighbors of Q faces C, who does not sit near 
A. P faces B and P is not an immediate neighbor of Q. There are two persons sitting 
between B and D. T sits second to the right of U. E does not sit at any of the extreme 
ends. S and T is not an immediate neighbor of each other. A sits at one of the extreme 
ends.

दो समणनणंतर पंकियों में बणरह व्यकि बैठे हैं। छह व्यकि A, B, C, D, E और F उत्तर की ओर उन्मखु हैं और 
अन्य छह P, Q, R, S, T और U दकक्षर् की ओर उन्मखु हैं। एक पंकि के प्रत्येक व्यकि कण मखु दसूरी पंकि
के ठीक एक व्यकि की ओर ह ैिेककन आवश्यक नहीं इसी क्रम में हो । A और R एक दसूरे के कतरछे कवपरीत 
बैठे हैं। R और Q के बीच दो व्यकि बैठे हैं। Q के कनकटतम पडोकसयों में स ेएक C की ओर उन्मखु ह,ै िो A 
के कनकट नहीं बैठतण ह।ै P कण मखु B की ओर ह ैऔर P, Q कण कनकटतम पडोसी नहीं ह।ै B और D के बीच 
दो व्यकि बैठे हैं। T, U के दणयें स ेदसूरे स्थणन पर बैठण ह।ै E ककसी भी अकंतम छोर पर नहीं बैठण ह।ै S और T 
एक दसूरे के कनकटतम पिोसी नहीं ह.ै A ककसी एक अकंतम छोर पर बैठण ह।ै



There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E 
and F are facing north and other six P, Q, R, S, T, and U are facing south. Each 
person from one row faces exactly one person from the other row but not 
necessarily in the same order. A and R sits diagonally opposite to each other. 
There are two persons sitting between R and Q. One of the immediate 
neighbors of Q faces C, who does not sit near A. P faces B and P is not an 
immediate neighbor of Q. There are two persons sitting between B and D. T 
sits second to the right of U. E does not sit at any of the extreme ends. S and T 
is not an immediate neighbor of each other. A sits at one of the extreme ends.



In a six floor building the ground floor is 

numbered one, the floor above it is numbered 

two and so on such that the topmost floor is 

numbered six. One out of six people viz. 

Aditi, Reema, Mayank, Trisha, David and 

Gaurav live on each floor. No one lives 

between Mayank and Gaurav. There are two 

floors between the floors on which Aditi and 

Trisha live. Aditi lives on the floor above the 

floor on which Trisha lives. David lives on an 

odd numbered floor. Trisha does not live on 

the ground floor. Reema does not live on a 

floor immediately above or below Trisha's 

floor. Mayank lives on the floor above the 

floor on which Gorav lives. 

एक छह मंकििण इमणरत में भतूि की संख्यण एक ह,ै 

इससे ऊपर की मंकिि की संख्यण दो ह ैऔर इसी 

प्रकणर सबसे ऊपर की मंकिि की संख्यण छह ह।ै छह 

में से एक व्यकि अथणात। अकदकत, रीमण, मयंक, 

कत्रशण, िेकवि और गौरव प्रत्येक मंकिि पर रहते हैं। 

मयंक और गौरव के बीच कोई नहीं रहतण ह।ै किन 

मंकििों पर अकदकत और तषृण रहती हैं, उनके बीच 

दो मंकििें हैं। अकदकत तषृण के ऊपर वणिी मंकिि पर 

रहती ह।ै िेकवि एक कवषम संख्यण वणिी मंकिि पर 

रहतण ह।ै तषृण भतूि पर नहीं रहती ह।ै रीमण कत्रशण के

ठीक ऊपर यण नीचे वणिी मंकिि पर नहीं रहती ह।ै

मयंक गौरव के ऊपर वणिी मंकिि पर रहती 

ह।ै



In a six floor building the ground floor is 

numbered one, the floor above it is numbered 

two and so on such that the topmost floor is 

numbered six. One out of six people viz. 

Aditi, Reema, Mayank, Trisha, David and 

Gaurav live on each floor. No one lives 

between Mayank and Gaurav. There are two 

floors between the floors on which Aditi and 

Trisha live. Aditi lives on the floor above the 

floor on which Trisha lives. David lives on an 

odd numbered floor. Trisha does not live on 

the ground floor. Reema does not live on a 

floor immediately above or below Trisha's 

floor. Mayank lives on the floor above the 

floor on which Gorav lives. 



Seven people - S, T, U, V, W, X, and Y live in 

a seven-floor building, but not necessarily in 

the same order. Floors are numbered as 1 to 7 

from bottom to top. Y lives on one of the 

floors below the 5th floor but not on an even-

numbered floor. There is only one floor 

between S and Y. S doesn't live on the 

lowermost floor. U lives on an even-numbered 

floor. Neither Y nor S lives immediately 

below U. There are only two floors between T 

and W while there is only one floor between V 

and W. Neither S nor U lives immediately 

above V. X doesn't live immediately above U. 

T is above W.

सणत व्यकि - S, T, U, V, W, X, और Y एक सणत 

मंकििण इमणरत में रहते हैं, िेककन िरूरी नहीं कक इसी क्रम

में हों। मंकििों को नीचे से ऊपर तक 1 से 7 तक क्रमणंककत 

ककयण गयण ह।ै Y पणंचवीं मंकिि के नीचे ककसी एक मंकिि 

पर रहतण ह ैिेककन एक सम संख्यण वणिी मंकिि पर नहीं 

रहतण ह।ै S और Y के बीच केवि एक मंकिि ह।ै S सबसे 

कनचिी मंकिि पर नहीं रहतण ह।ै U एक सम संख्यण वणिी 

मंकिि पर रहतण ह।ै न तो Y और न ही S, U के ठीक नीचे 

रहते हैं। T और W के बीच केवि दो मंकििें हैं िबकक V 

और W के बीच केवि एक मंकिि ह।ै न तो S और न ही 

U, V के ठीक ऊपर रहते हैं। X, U के ठीक ऊपर नहीं 

रहतण ह।ै T ऊपर ह।ै 



Seven people - S, T, U, V, W, X, and Y live in 

a seven-floor building, but not necessarily in 

the same order. Floors are numbered as 1 to 7 

from bottom to top. Y lives on one of the 

floors below the 5th floor but not on an even-

numbered floor. There is only one floor 

between S and Y. S doesn't live on the 

lowermost floor. U lives on an even-numbered 

floor. Neither Y nor S lives immediately 

below U. There are only two floors between T 

and W while there is only one floor between V 

and W. Neither S nor U lives immediately 

above V. X doesn't live immediately above U. 

T is above W.



Seven persons are going on attend dance class on 

seven different days of the week in such a way week 

starts from Monday. Each of them likes different 

dance forms i.e. Kathak, Salsa, Folk, Bharatanatyam, 

Kathakali, Kuchipudi and Hip-hop but not necessary 

in the same order.

P likes kathakali and attends class on Wednesday. 

One person attends class between P and J. The one 

who likes salsa dance attend class on Friday. Two 

persons attend class between the one who likes salsa 

and the one who likes Kathak. More than three 

persons attend class between J and F. G attends class 

on Sunday. The one who likes Kuchipudi dance 

attends class before the one who likes Folk dance 

and after the one who likes hip-hop dance. J does not 

like hip-hop dance. M attend the class before E. L 

likes Hip-hop dance

सणत व्यकि सप्तणह के सणत कवकभन्न कदनों पर िणंस क्िणस में भणग 

िेते हैं (सप्तणह सोमवणर से आरम्भ होतण ह)ै। उनमें से प्रत्येक 

कवकभन्न िणंस अथणात ्कथक, सणिसण, फोक, भरतनणट्यम, 

कथकिी, कुकचपडुी और कहप-हॉप पसंद करते हैं िेककन 

आवश्यक नहीं कक सभी समणन क्रम में हों।

P कथकिी पसंद करतण ह ैऔर बधुवणर को क्िणस में भणग िेतण 

ह।ै P और J के मध्य एक व्यकि क्िणस में भणग िेतण ह।ै सणिसण 

िणंस पसंद करने वणिण व्यकि शकु्रवणर को क्िणस में भणग िेतण

ह।ै सणिसण पसंद करने वणिे व्यकि और कथक पसंद करने वणिे 

व्यकि के मध्य दो व्यकि क्िणस में भणग िेते हैं। J और F के 

मध्य तीन से अकधक व्यकि क्िणस में भणग िेते हैं। G रकववणर को

क्िणस में भणग िेतण ह।ै कुकचपडुी िणंस पसंद करने वणिण व्यकि, 

फोक िणंस पसंद करने वणिे व्यकि से पहिे और कहप-हॉप िणंस 

पसंद करने वणिे व्यकि के बणद क्िणस में भणग िेतण ह।ै J कहप-

हॉप िणंस पसंद नहीं करतण ह।ै M, E से पहिे क्िणस में भणग 

िेतण ह।ै L कहप-हॉप िणंस पसंद करतण ह।ै



Seven persons are going on attend dance class on 

seven different days of the week in such a way week 

starts from Monday. Each of them likes different 

dance forms i.e. Kathak, Salsa, Folk, Bharatanatyam, 

Kathakali, Kuchipudi and Hip-hop but not necessary 

in the same order.

P likes kathakali and attends class on Wednesday. 

One person attends class between P and J. The one 

who likes salsa dance attend class on Friday. Two 

persons attend class between the one who likes salsa 

and the one who likes Kathak. More than three 

persons attend class between J and F. G attends class 

on Sunday. The one who likes Kuchipudi dance 

attends class before the one who likes Folk dance 

and after the one who likes hip-hop dance. J does not 

like hip-hop dance. M attend the class before E. L 

likes Hip-hop dance



एक कनकित संख्यण में व्यकि एक सीधी रेखण में बैठते 

हैं। मणन िें कक वे सभी उत्तर कदशण की ओर उन्मखु 

हैं। P ककसी एक अंकतम छोर से तीसरे स्थणन पर बैठण

ह।ै Y और P के मध्य दो व्यकि बैठे हैं।  L, N और 

M दोनों कण कनकटतम पिोसी ह.ै यण तो N यण M, 

Y कण कनकटतम पिोसी ह.ै N और P के मध्य तीन 

से अकधक व्यकि बैठे हैं। N और C के बीच एक 

व्यकि बैठण ह।ै M और P के बीच बैठे व्यकियों की 

संख्यण, C के दणयें बैठे व्यकियों की संख्यण से एक 

कम ह।ै

A certain number of persons sit in a 

straight line. Assume that all they are facing 

in the north direction.

P sits 3rd from one of the extreme ends. 

There are two persons sit between Y and P.

L is an immediate neighbour of both N and 

M. Either N or M is an immediate 

neighbour of Y. There are more than three 

persons sit between N and P. There is one 

person sits between N and C. The number 

of persons sit between M and P is one less 

than the number of persons sit to the right 

of C.



A certain number of persons sit in a straight line. Assume that all they are facing in the north 

direction.

P sits 3rd from one of the extreme ends. 

There are two persons sit between Y and P.

L is an immediate neighbour of both N and M. Either N or M is an immediate neighbour of Y. 

There are more than three persons sit between N and P. There is one person sits between N 

and C. The number of persons sit between M and P is one less than the number of persons sit 

to the right of C.



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.

एक फुटबॉि टीम के बणरह सदस्य दो समणनणंतर पंकियों में 

प्रत्येक में छह व्यकि इस प्रकणर बैठे हैं कक आसन्न व्यकियों के 

बीच समणन दरूी ह।ै पंकि-1 में U, V, W, X, Y और Z बैठे हैं 

और उन सभी कण मखु दकक्षर् की ओर ह।ै पंकि-2 में A, B, C, 

D, E और F बैठे हैं और उन सभी कण मखु उत्तर की ओर ह।ै 

इसकिए दी गई बैठने की व्यवस्थण में एक पंकि में बैठे प्रत्येक 

सदस्य कण मखु बणहरी पंकि के दसूरे सदस्य की ओर ह।ै X, V 

के दणयें से तीसरे स्थणन पर बैठण है, यण तो X यण V पंकि के 

अंकतम छोर पर बैठण ह।ै वह व्यकि किसकण मखु V की ओर ह,ै 

E के दणयें से दसूरे स्थणन पर बैठण ह।ै B और F के मध्य दो व्यकि

बैठे हैं। न तो B और न ही F पंकि के अंकतम छोर पर बैठे हैं। B 

के कनकटतम पिोसी कण मखु उस व्यकि की ओर ह ैिो U के 

बणयें से तीसरे स्थणन पर बैठण ह.ै W और Y एक दसूरे के 

कनकटतम पिोसी हैं. C, A के बणयें से दसूरे स्थणन पर बैठण ह।ै Y 

कण मखु D के कनकटतम पिोसी की ओर नहीं है। 



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.



Eight persons P, Q, R, S, T, U, V and W are 

going for holidays on two different dates 

(13th and 22nd) in four different months i.e. 

January, March, April and May. All 

information is not necessarily in same order.

Q goes in April. Three person goes between 

Q and T. Equal number of persons goes after 

T and Before R. More than one person goes 

between R and S who does not goes on odd 

number date. One person goes between P and 

W. Equal number of persons goes after V and 

Before U who goes on odd number date. P 

does not go in the month of Q.

U goes before V. P goes before W. 

आठ व्यकि P, Q, R, S, T, U, V और W चणर अिग-

अिग महीनों यणनी िनवरी, मणचा, अपै्रि और मई में दो 

अिग-अिग तणरीखों (13 और 22) को छुट्टियों पर िणते 

हैं। िरूरी नहीं कक सभी िणनकणरी इसी क्रम में हो।

Q अप्रैि में िणतण ह।ै Q और T के बीच तीन व्यकि िणते

हैं। T के बणद और R से पहिे समणन संख्यण में व्यकि िणते 

हैं। R और S के बीच एक से अकधक व्यकि िणते हैं, िो 

कवषम संख्यण वणिी तणरीख पर नहीं िणतण ह।ै P और W के 

बीच एक व्यकि िणतण ह।ै V के बणद और U से पहिे 

समणन संख्यण में व्यकि िणते हैं, िो कवषम संख्यण वणिी 

तणरीख पर िणतण ह।ै P, Q के महीने में नहीं िणतण ह।ै U, V 

से पहिे िणतण ह।ै P, W से पहिे िणतण ह।ै



Eight persons P, Q, R, S, T, U, V and W are 

going for holidays on two different dates 

(13th and 22nd) in four different months i.e. 

January, March, April and May. All 

information is not necessarily in same order.

Q goes in April. Three person goes between 

Q and T. Equal number of persons goes after 

T and Before R. More than one person goes 

between R and S who does not goes on odd 

number date. One person goes between P and 

W. Equal number of persons goes after V and 

Before U who goes on odd number date. P 

does not go in the month of Q.

U goes before V. P goes before W. 



Eight persons Paro, Runa, Sona, Kim,Harry, Ram, 

Geet and Monu are going for seven days holiday 

on different months of same year i.e. January, 

February, March, April, May, June, July and 

August. All information is not necessarily in same 

order. Harry goes in the month of August. Sona

goes in the month which has odd number of days. 

Geet goes just after the month in which Sona goes. 

Three persons goes between Monu and Sona. Runa

goes in the month which has even number of days 

but not in February. Two persons goes between 

Kim and Ram, who does not go in the month 

which have odd number of days. Ram does not go 

in February. Paro does not go after Kim. Monu

goes in the month of May . 

आठ व्यकि पणरो, रूनण, सोनण, ककम, हरैी, रणम, गीत और 

मोन ूएक ही वषा के कवकभन्न महीनों यणनी िनवरी, फरवरी, 

मणचा, अप्रैि, मई, िनू, ििुणई और अगस्त में सणत कदनों 

की छुिी पर िण रह ेहैं। िरूरी नहीं कक सभी िणनकणरी इसी 

क्रम में हो। हरैी अगस्त के महीने में िणतण ह।ै सोनण कवषम 

कदनों वणिे महीने में िणतण ह।ै गीत उस महीने के ठीक बणद 

में िणतण ह ैकिसमें सोनण िणती ह।ै मोन ूऔर सोनण के बीच 

तीन व्यकि िणते हैं। रूर् उस महीने में िणतण ह ैकिसमें कदनों 

की संख्यण सम होती ह ैिेककन फरवरी में नहीं। ककम और 

रणम के बीच दो व्यकि िणते हैं, िो उस महीने में नहीं िणतण 

ह ैकिसमें कदनों की संख्यण कवषम होती ह।ै रणम फरवरी में

नहीं िणतण ह।ै पणरो ककम के पीछे नहीं िणती। मोनू मई के 

महीने में िणतण ह।ै



Eight persons Paro, Runa, Sona, Kim,Harry, Ram, 

Geet and Monu are going for seven days holiday 

on different months of same year i.e. January, 

February, March, April, May, June, July and 

August. All information is not necessarily in same 

order. Harry goes in the month of August. Sona

goes in the month which has odd number of days. 

Geet goes just after the month in which Sona goes. 

Three persons goes between Monu and Sona. Runa

goes in the month which has even number of days 

but not in February. Two persons goes between 

Kim and Ram, who does not go in the month 

which have odd number of days. Ram does not go 

in February. Paro does not go after Kim. Monu

goes in the month of May . 



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कणरें A, B, C, D, E, F, G और H एक 

कनकित दरूी के भीतर एक पणका में हैं। कणर A, कणर 

B के 8 ककमी पवूा में ह,ै िो कणर D के 9 ककमी 

उत्तर में ह।ै कणर C, कणर F के 5 ककमी दकक्षर् में ह,ै 

िो कणर G के 6 ककमी पकिम में ह।ै कणर G, कणर 

A के 4 ककमी उत्तर में ह।ै कणर E, कणर C के 8 

ककमी पकिम में ह।ै कणर H, कणर E के 2 ककमी 

दकक्षर् में ह।ै कणर G, कणर C के संदभा में ककस 

कदशण में ह?ै 

1.उत्तर 

2. दकक्षर् 

3. पवूा 

4. दकक्षर्-पकिम 

5. उत्तर-पवूा



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P

P, Q, R, S, T, U के रूप में िेबि ककए गए छह 

बक्से एक स्टैक (ऊध्वणाधर व्यवस्थण) के रूप में रखे गए 

थे िेककन िरूरी नहीं कक इसी क्रम में हों। प्रत्येक बॉक्स 

को एक अिग रंग में कचकत्रत ककयण गयण ह।ै बक्सों के रंग 

नणरंगी, पीि,े बैंगनी, नीि, िणि और नीिे थे िेककन 

िरूरी नहीं कक इसी क्रम में हों। S और T के मध्य दो 

किब्बे हैं। S, नीि के किब्बे के ठीक नीचे ह।ै िणि और 

बैंगनी बक्सों के बीच दो किब्बे हैं। P को नणरंगी किब्बे के 

ठीक नीचे रखण गयण ह।ै किब्बण Q कण रंग िणि नहीं ह।ै 

T को S के ऊपर नहीं रखण गयण ह।ै Q और इकंिगो 

बॉक्स के बीच केवि नीिण बॉक्स रखण गयण ह।ै पीिे 

किब्बे को ढेर के नीचे से तीसरे स्थणन पर रखण गयण ह।ै 

पीिण बॉक्स U के नीचे रखण गयण ह।ै



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

लोगों की तीन पीक़ियां एक साथ रहती हैं। पररवार में

12 सदस्य हैं अथाणत। एम, एन, ओ, पी, क्यू, आर, एस,

टी, यू, वी, डब््यू और एक्स िो कपककनक के कलए

बाहर गए थे। R और Q, T और S के बच्चे हैं। V, िो

W का ससुर है, R का चाचा है। T का एक बेटा और

एक बेटी है। P, O का पकत है। O, Q की पुत्री है। M,

N का भाई है। R का कववाह U से हुआ है। N का कपता

U है, किसकी केवल एक पुत्री है। S, U का ससुर है।

W, X की पत्नी है।

पांच में से चार एक कनकित तरीके से समान हैं और

इसकलए एक समूह बनाते हैं। कनम्नकलकखत में से कौन

समूह से संबंकित नहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table. One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.

आठ व्यकि P, Q, R, S, T, U, V और W एक वगणाकणर मेि के चणरों ओर बैठे हैं, किनमें से 

चणर कोने पर बैठे हैं और शेष मेि की भिुणओ ंके मध्य में बैठे हैं। उन सभी कण मखु मेि के कें द्र की 

ओर ह।ै P और V के बीच एक व्यकि बैठण ह।ै V और S के बीच दो व्यकि बैठे हैं। P मेि के कोने

पर बैठण ह।ै U, T के ठीक बणयें बैठण ह।ै R, T के दणयें से दसूरे स्थणन पर बैठण ह।ै Q, R के ठीक 

दणयें बैठण ह।ै W, P के ठीक बणयें नहीं बैठण ह।ै



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table. One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

लोगों की तीन पीक़ियां एक साथ रहती हैं। पररवार में

12 सदस्य हैं अथाणत। एम, एन, ओ, पी, क्यू, आर, एस,

टी, यू, वी, डब््यू और एक्स िो कपककनक के कलए

बाहर गए थे। R और Q, T और S के बच्चे हैं। V, िो

W का ससुर है, R का चाचा है। T का एक बेटा और

एक बेटी है। P, O का पकत है। O, Q की पुत्री है। M,

N का भाई है। R का कववाह U से हुआ है। N का कपता

U है, किसकी केवल एक पुत्री है। S, U का ससुर है।

W, X की पत्नी है।

पांच में से चार एक कनकित तरीके से समान हैं और

इसकलए एक समूह बनाते हैं। कनम्नकलकखत में से कौन

समूह से संबंकित नहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



Ten persons, J, K, L, M, N, O, P, Q, R, and S 

attend the conference on different dates, 17th, 

and 28th of different months, January, March, 

June, September, and November in a year. K 

attends before R but not in January. R attends 

before N. S attends before Q and both attend on 

the same date. J attends the conference on the 

17th of a month having 31 days. Three persons 

attend the conference between J and N. Four 

persons attend the conference between N and 

M, who attend the conference before J. The 

number of persons attending the conference 

after M is equal to the number of persons 

attending before L. One person attends the 

conference between N and P.

दस व्यकि, J, K, L, M, N, O, P, Q, R, और S कवकभन्न 

महीनों, िनवरी, मणचा, िनू, कसतंबर, और नवंबर की कवकभन्न 

कतकथयों, 17 और 28 को सम्मेिन में भणग िेते हैं। सणि। K, 

R से पहिे भणग िेतण ह ैिेककन िनवरी में नहीं। R, N से 

पहिे उपकस्थत होतण ह।ै S, Q से पहिे उपकस्थत होतण ह ै

और दोनों एक ही तणरीख को उपकस्थत होते हैं। J 31 कदनों 

वणिे महीने की 17 तणरीख को सम्मेिन में भणग िेतण ह।ै J 

और N के बीच तीन व्यकि सम्मेिन में भणग िेते हैं। N और 

M के बीच चणर व्यकि सम्मेिन में भणग िेते हैं, िो J से 

पहिे सम्मेिन में भणग िेते हैं। M के बणद सम्मेिन में भणग 

िेने वणिे व्यकियों की संख्यण, L से पहिे भणग िेने वणिे 

व्यकियों की संख्यण के बरणबर ह।ै N और P के बीच एक 

व्यकि सम्मेिन में भणग िेतण ह।ै



Ten persons, J, K, L, M, N, O, P, Q, R, and S 

attend the conference on different dates, 17th, 

and 28th of different months, January, March, 

June, September, and November in a year. K 

attends before R but not in January. R attends 

before N. S attends before Q and both attend on 

the same date. J attends the conference on the 

17th of a month having 31 days. Three persons 

attend the conference between J and N. Four 
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number of persons attending the conference 

after M is equal to the number of persons 

attending before L. One person attends the 

conference between N and P.



A, B, C, D, E, F, and G are seven friends. They 

play three types of games viz. Baseball, Tennis, 

and Rugby. Each game is played by at least two 

players. Each one of them has a favorite color 

viz. Pink, Blue, White, Green, Yellow, Red, and 

Black, but not necessarily in the same order. 

None of the Rugby players likes White or Red 

color. B likes Yellow and plays Rugby. The one 

who likes Black plays the same game as E but 

not as G and D . C likes Blue and plays the 

same game as G. D plays Tennis only with the 

one, who likes Pink. G plays neither Tennis nor 

Rugby. F does not like Black. G likes neither 

Green nor White. D does not like Green. E does 

not like Pink. A doesn't like pink. G play with 

only one person .

A, B, C, D, E, F और G सणत कमत्र हैं। वे तीन प्रकणर के 

खेि खेिते हैं अथणात। बेसबॉि, टेकनस और रग्बी। प्रत्येक 

खेि कम से कम दो कखिणकडयों द्वणरण खेिण िणतण ह।ै उनमें से 

प्रत्येक कण एक पसंदीदण रंग ह ैअथणात। गिुणबी, नीिण, 

सफेद, हरण, पीिण, िणि और कणिण, िेककन आवश्यक नहीं 

इसी क्रम में हो। कोई भी रग्बी कखिणडी सफेद यण िणि रंग 

पसंद नहीं करतण ह।ै B को पीिण रंग पसंद ह ैऔर वह रग्बी 

खेितण ह।ै वह व्यकि किसे कणिण रंग पसंद ह ैवह E िैसण 

खेि खेितण ह ैिेककन G और D के समणन नहीं। C नीिण 

रंग पसंद करतण ह ैऔर G के समणन ही खेि खेितण ह।ै D 

केवि उस व्यकि के सणथ टेकनस खेितण ह ैकिसे गिुणबी रंग 

पसंद ह।ै G न तो टेकनस न ही रग्बी खेितण ह।ै F को कणिण 

रंग पसंद नहीं ह।ै G को न तो हरण न ही सफेद पसंद ह।ै D को 

हरण रंग पसंद नहीं ह।ै E को गिुणबी रंग पसंद नहीं ह।ै A को 

गिुणबी रंग पसंद नहीं ह।ैG केवल एक व्यक्ति के साथ 
खेलिा है।
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play three types of games viz. Baseball, Tennis, 

and Rugby. Each game is played by at least two 
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who likes Black plays the same game as E but 
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not like Pink. A doesn't like pink. G play with 

only one person .



Eleven people P, Q, R, S, T, U, V, W, X, Y and Z 

lives in a building but not necessarily in the same 

order. There are eleven floors in that building and 

only one person live on each floor. Ground floor 

numbered is '1' and above the floor is ‘2’ and so on 

the top-most floor numbered is '11'. There are only 

three floors between Z and R. Z lives above R . U, 

P and Y do not live on odd number floor. W lives 

immediately below to X. There are only two floors 

between R and X. P lives exactly between R and V. 

Q  lives fourth from the top. Y lives immediately 

above to S but does not live above to R. Number of  

person lives between T and Z is same as the 

number of people lives between S and W. R and X 

do not live on the fourth floor. R lives below sixth 

floor.

ग्यणरह व्यकि P, Q, R, S, T, U, V, W, X, Y और Z 

एक इमणरत में रहते हैं िेककन िरूरी नहीं कक इसी क्रम में हों। 

उस इमणरत में ग्यणरह मंकिि हैं और प्रत्येक मंकिि पर केवि 

एक व्यकि रहतण ह।ै भतूि की संख्यण '1' ह ैऔर ति के ऊपर 

'2' ह ैऔर इसकिए सबसे ऊपरी मंकिि पर संख्यण '11' ह।ै Z 

और R के बीच केवि तीन मंकिि हैं। Z, R के ऊपर रहतण 

ह।ै U, P और Y कवषम संख्यण वणिी मंकिि पर नहीं रहते हैं। 

W, X के ठीक नीचे रहतण ह।ै R और X के बीच केवि दो 

मंकिि हैं। P, R और V के ठीक बीच में रहतण ह।ै Q ऊपर से 

चौथे स्थणन पर रहतण ह।ै Y, S के ठीक ऊपर रहतण ह ैिेककन 

R के ऊपर नहीं रहतण ह।ै T और Z के बीच रहने वणिे 

व्यकियों की संख्यण उतनी ही ह ैकितनी कक S और W के 

बीच रहने वणिे िोगों की संख्यण। R और X चौथी मंकिि पर 

नहीं रहते हैं। R छठी मंकिि के नीचे रहतण ह।ै
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lives in a building but not necessarily in the same 

order. There are eleven floors in that building and 

only one person live on each floor. Ground floor 

numbered is '1' and above the floor is ‘2’ and so on 
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Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.

आठ व्यकि F, G, H, I, J, K, L और M एक ही वषा के 

चणर अिग-अिग महीनों िनवरी, अपै्रि, नवंबर और 

कदसंबर में सेकमनणर में भणग िेते हैं िेककन िरूरी नहीं कक

इसी क्रम में हों। संगोष्ठी महीने की 15 यण 25 तणरीख को 

आयोकित की गई थी। G महीने की 15 तणरीख को सेकमनणर 

में भणग िेतण ह ैकिसमें केवि 30 कदन होते हैं। M और J, 

G से पहिे समणन महीने में सेकमनणर में भणग िेते हैं, िेककन 

अपै्रि में नहीं। M, J के बणद सेकमनणर में भणग िेतण ह।ै F के

बणद कोई भी सेकमनणर में भणग नहीं िेतण ह।ै M और K के 

बीच केवि एक व्यकि सेकमनणर में भणग िेतण ह।ै H और L 

दोनों अिग-अिग महीनों की 15 तणरीख को सेकमनणर में 

भणग िेते हैं। L कदसंबर में सेकमनणर में भणग नहीं िेतण ह।ै L 

और मैं एक ही महीने में सेकमनणर में भणग िेते हैं।



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 
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Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.

कुछ किब्बे एक के ऊपर एक रखे हुए हैं। बॉक्स D को 

बॉक्स B के नीचे रखण गयण ह ैिेककन बॉक्स B के 

ठीक नीचे नहीं रखण गयण ह।ै बॉक्स D को बॉक्स J 

और बॉक्स K के ठीक बीच में रखण गयण ह।ै बॉक्स E 

को बॉक्स H के ऊपर रखण गयण ह।ै बॉक्स F को 

बॉक्स B के कनकट नहीं रखण गयण ह।ै बॉक्स G को 

ठीक नीचे रखण गयण ह।ै किब्बण K. किब्बण I ढेर के 

शीषा पर नहीं ह।ै बॉक्स B के ऊपर तीन बॉक्स हैं। J 

और I के बीच तीन बॉक्स हैं। बॉक्स A और बॉक्स J 

के बीच दो बॉक्स हैं। बॉक्स C, बॉक्स F के ठीक 

ऊपर रखण गयण ह।ै बॉक्स B और बॉक्स K के बीच 

दो बॉक्स हैं। किब्बण G और किब्बण F के मध्य दो 

किब्बे हैं।
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